FD-114

M.Com. 3rd Semester
Examination, Dec.-Jan., 2021-22

Paper - IV

Management Accounting

Time : Three Hours] [Maximum Marks : 80
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Note : Answer all questions. All questions carry equal
marks.

ZehTE / Unit-1

1. Yeu®E o@ifay § & AWE g ? 9%
& AdH WA detenl bl foe= ST

What is meant by Management Accounting ?
Discuss its main tools and techniques.

34T / OR

YeysE w@maerss o feafd, qfyem w
ST sl THEAST |

Explain the position, role and responsibilities
of Management Accountants.
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B8 / Unit-11

2. vtenm fdo & 2019-2020 T¥ & HawH

gfomm o 9aR §
F

IEED 8,00,000

(-) UREdRie &r 5,60,000

S HME 2,40,000

(-) TR & 80,000

IS o™ 1,60,000

SO & = fauri & fAwes 9 defud

e g=1 =1 7R € -

faym
A B C
(?) () ()
orsht 3,52,000] 2,88,000 |1,60,000
qReEd-Rie @d | 2,40,000] 1,76,000 [1,44,000
Tae] feer arma 28,800 22,400 12,800

31 frouTes oo gfaaed Tar sifse qen
T faurn &1 9feres aveEedl o STER
W wife Fuif@ s
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(3)

The operating results of Sheela Ltd. for the
year 2019-2020 are as follows :

3
Sales 8,00,000
(=) Variable Cost 5,60,000
Contribution 2,40,000
(-) Fixed Costs 80,000
Net profit 1,60,000

The additional informations relating to
performance of three departments of the
company are as follows :

Departments

A B C
(%) (%) (%)
Sales 3,52,000]2,88,000(1,60,000
Variable cost 2,40,000(1,76,000]1,44,000
Direct Fixed Cost [ 28,800| 22,400 12,800

You are required to prepare performance
evaluation report and rank the three
departments on the Dbasis of relative
profitability.

37gdr / OR

ST @ik & g7 ard &= 3R
ST g H @ FdEu|

DRG 235 (8) (Turn Over)



(4)

What is Responsibility ~ Accounting ?
Distinguish  between Cost  centre and
Responsibility centre.

B8 / Unit-111

3. oSN d §? WdSe o fafd= YR TH
dcdl i SIRSAT hifSIT |

What is Budgeting ? Explain the elements and
different types of Budgets.

3794 / OR
Teh HRE@H T 10000 SH1EIA & IO

fau = oo =1 yer feu o ¥ .

7 (Ufd )
i pil 70
a9 25
qReEdRie SUREA 20
T YRS ¥ 1,00,000 10
IR &4 5
forsnt =131 10% feer 13
forawor =29 20% TR 7
JUME =49 ¥ 50,000 5

(a3

(i) 8000 S®EAT TA (ii) 6000 THEAT & o
3AET o o9 IR HifSW| I HH o T
JoEe o 9t ' W TR g
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(3)

The Expense budget for production of 10000
units in a factory are furnished below :

T (Per Unit)
Material 70
Labour 25
Variable Cost 20
Fixed overhead ¥ 1,00,000 10
Variable Expenses 5
Selling Expenses 10% fixed 13
Distribution Expenses 20% fixed 7
Administrative Expenses ¥ 50,000 5

Prepare a budget for the production of
(/) 8000 units and (i) 6000 units. Assume
that administrative expenses are rigid for all
levels of production.

g8 / Unit-IV
4. YUY N o@ihd @i URYTT STl s9
ded § gmit foerenl iR gm fo=ron @
HHSATSU |

Define Standard Costing. Discuss material
variances and labour variances with reference
to it.

37dr / OR
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(6)

= gawedl ¥ 9mft fo=ren @t Tom
Elfl'rTrl'Q:

JHI EIENICED

QY| AET [ | oI | AT [hiEd [
(fea)| ()| ) [((fRI)| () |(F)

A 50 4 | 200 40 5 (200
B 30 6 | 180 30 6 |180
C 20 3| 60| 30 3| 90
100 440 100 (470

g | 20 -1 30 -
80 40| 70 (470

Calculate Material variance from the following

information :
Standard Actual

Material| Qty [Price| Value | Qty [Price|Value
Kg)| )| () | Keg)|[R)]| R)
A 50 | 4 200 | 40 5 200
B 30 | 6 180 | 30 6 180
C 20 | 3 60 | 30 3 90
100 440 | 100 470
Loss 20 — 30 —
80 440 | 70 470
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(7)

B8 / Unit-V
5. Hwiq @ fafy | e = wHe € 2 A
froiei o 99 & 9 H TRt YA GHFAET |
What do you understand by marginal costing ?

State its usefulness as a tool for Corporate
decesions.

37dr / OR

Jal ot fdo RT A9 YR o ded HfHa
W a9 9 S TR HHN: L, M qA N
i @ ST Sl & | e dr w§ Ay &
fa L AT 1 20% 3 a1 B, M 10%
A N 50% WEH <d B A ded A ufd
she okl o W 99 S ¥ -

L T8 M T2, NT3

L ! 50000 18T, M T 150000 SehTSal qo
N &t 60000 THEAT SR HIAT ¥ FX F I
¥ 50,000 1 G 19 FHAEN A dio THo o
fosha geigs 1 We § foF M F FEE Ak
qAT L T N R Tasha Il i hid Sl
A HI TG S Tkl & | 3Hh TR ST
a9 L st Tasht 60000 ShTsAT qAT N i ToIsht
70000 SHEAT dF TEH H TR F |

F A At T F YEE Y WEHd § 2 SR
TS bl &I | W@d U ST bl HiHid
foeRor d9R =S
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(8)

Three different types of bulb are manufactured
and sold by Bebo Company Ltd. These are
branded as L, M and N. L contributes 20% of
its revenue to Fixed Costs and profit. M
contributes 10% and N contributes 50%.
These bulbs are sold at selling price per unit
as under :

L8 MT2 NT3

The company earned a net profit of ¥ 50,000
before tax by selling 50000 units of L,
150000 units of M and 60000 units of N.
Shri P. N. Dubey the sales manager believes
that the profit picture can be improved by
diminating M and concentrating the sales
efforts on L and N. He sees an opportunity to
increase sales of L to 60000 units and that N
to 70000 units next year.

Do you agree with the proposal of
Shri Dubey ? Prepare a marginal statement of
income using his assumptions.
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